< 00, > (M)

<opyp, > ()

Ratio

<o @> (rad)
o
=
a1

o
[N

o
N

................................

I
'Q¢—r
e

[

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)

..........................

+

+
[ g 0 ] bl
I T . -
L . < ||+
r H T < |1 <+
L <+ | 4T . T4 -
I [ VP S Y 0 1 I o Y ) B

<4 L . G

L 1 +

1

2 3
TPlpoT (PCA t%obeamlinélf)

—=— DQM_mkFit_QCDHighPt_base
—— DQM_mkFit_QCDHighPt_retrain

100r

8OF+--4
60F-++4

N
o
I

20~

1

............................

................................

R 5 0 W Y R
-1
- -+
d -+
-+

ANEY

1

I 2 3
TPl[:g)T (PCA t%)obeamlin%)o

<od,> (um)

<+

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


